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Solved Examples

1. State the condition (SSS or SAS or ASA or

RHS) under which AABC =~ ADFEF in each


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OGt9nIo4Grbp

of the following cases :

A E

A.SSS

B. SAS

C. ASA

D. RHS


https://dl.doubtnut.com/l/_OGt9nIo4Grbp

Answer: D

o Watch Video Solution

2. State the condition (SSS or SAS or ASA or

RHS) under which AABC =~ ADFEF in each

of the following cases :

o Watch Video Solution



https://dl.doubtnut.com/l/_OGt9nIo4Grbp
https://dl.doubtnut.com/l/_62Gb0LSkmP7t
https://dl.doubtnut.com/l/_XLTZqMuv1v1k

3. If AABC = AYZX, write the pairs of
correponding equal angles and sides of the

two triangles.

o Watch Video Solution

4. In the given figure, AB| | CD and

AB = CD, prove that: AAOB = ADOC


https://dl.doubtnut.com/l/_XLTZqMuv1v1k
https://dl.doubtnut.com/l/_HLmRaJhUCHiQ

c D

° Watch Video Solution

5. In the given figure, AB| | CD and

AB = CD, prove that:


https://dl.doubtnut.com/l/_HLmRaJhUCHiQ
https://dl.doubtnut.com/l/_tibSyYnyP2Gy

c D

triangle

AOB is congruent to triangle DOC.

o Watch Video Solution



https://dl.doubtnut.com/l/_tibSyYnyP2Gy

6. In an isosceles triangle, prove that the

angles opposite to equal sides are equal.

o Watch Video Solution

7. In the adjoining figure, BM and CN are the
altitudes drawn to the sides AC and AB

respectively of AABC. If BM=CN, prove that


https://dl.doubtnut.com/l/_MFqQu1ogfW8x
https://dl.doubtnut.com/l/_A9sVLdN4znpF

AABC is isosceles.

o Watch Video Solution

8. In the given figure AB=AC and AD=AE. Prove

that (i) AABD =~ AACFE and (ii) BE=DC


https://dl.doubtnut.com/l/_A9sVLdN4znpF
https://dl.doubtnut.com/l/_pQ9RCLrIvlGP

o Watch Video Solution

1. State the condition (SSS or SAS or ASA or

RHS) under which AABC =~ APQR in each


https://dl.doubtnut.com/l/_pQ9RCLrIvlGP
https://dl.doubtnut.com/l/_6rtPuS8usTbc

of the folloiwng cases.

A Q 4 pm =]
2.5““/&“"| EEM
B 4 em C P

° Watch Video Solution

2. State the condition (SSS or SAS or ASA or

RHS) under which AABC = APQR in each


https://dl.doubtnut.com/l/_6rtPuS8usTbc
https://dl.doubtnut.com/l/_L94hCM9wbWU5

of the folloiwng cases.

c P a

° Watch Video Solution

3. State the condition (SSS or SAS or ASA or

RHS) under which AABC = APQR in each


https://dl.doubtnut.com/l/_L94hCM9wbWU5
https://dl.doubtnut.com/l/_1RUhYO4X3Iye

of the folloiwng cases.

A. SSS

B. SAS

C. ASA

D. RHS


https://dl.doubtnut.com/l/_1RUhYO4X3Iye

Answer: C

o Watch Video Solution

4. State the condition (SSS or SAS or ASA or

RHS) under which AABC =~ APQR in each

of the folloiwng cases.
Q
C

o Watch Video Solution



https://dl.doubtnut.com/l/_1RUhYO4X3Iye
https://dl.doubtnut.com/l/_mUOfdPsTIbMu

5. State giving reasons, which of the following
are pairs of congruent triangles. Write down
the names of triangles with congruent sign in

each case, wherever they are congruent.

A . e n

o Watch Video Solution



https://dl.doubtnut.com/l/_mUOfdPsTIbMu
https://dl.doubtnut.com/l/_aIIVj6q8Rk8i

6. State giving reasons, which of the following
are pairs of congruent triangles. Write down
the names of triangles with congruent sign in

each case, wherever they are congruent.

AN

B c Q R

° Watch Video Solution

7. State giving reasons, which of the following

are pairs of congruent triangles. Write down


https://dl.doubtnut.com/l/_CWzmSRDCFmFR
https://dl.doubtnut.com/l/_P9r4If0QapYN

the names of triangles with congruent sign in

each case, wherever they are congruent.

o Watch Video Solution

8. State giving reasons, which of the following
are pairs of congruent triangles. Write down

the names of triangles with congruent sign in


https://dl.doubtnut.com/l/_P9r4If0QapYN
https://dl.doubtnut.com/l/_Po951jVW7eio

each case, wherever they are congruent.
Q . R
-A .-l

o Watch Video Solution

9. State giving reasons, which of the following
are pairs of congruent triangles. Write down

the names of triangles with congruent sign in


https://dl.doubtnut.com/l/_Po951jVW7eio
https://dl.doubtnut.com/l/_nfbxSSEWnKzL

each case, wherever they are congruent.

o Watch Video Solution

10. State giving reasons, whether the following
pairs of triangles are congruent or not:
AABC in which
/A =50°,Z/B =60°,BC =45 <m and
ADFEFo in which

/E =60°, EF = 4.5¢cm, /F = 70°


https://dl.doubtnut.com/l/_nfbxSSEWnKzL
https://dl.doubtnut.com/l/_Lm3VuwIIvn5B

° Watch Video Solution

11. State giving reasons, whether the following
pairs of triangles are congruent or not:
ADEF in which
/E =48°, DE = 6ecm, EF = 8cm and
AMNR in which

ZR =48°, MN = 6ecm, MR = 8cm

o Watch Video Solution



https://dl.doubtnut.com/l/_Lm3VuwIIvn5B
https://dl.doubtnut.com/l/_oylOVzXOykVV

12. State giving reasons, whether the following
pairs of triangles are congruent or not:
AKLM in which KM=4 cm
LK =T75°, ZM = 40° and APQR in which

PR=4 cm, ZQ) = 65°, /R = 40°.

o Watch Video Solution

13. State giving reasons, whether the following
pairs of triangles are congruent or not:

AABC in which AB=3cm ZA = 90°, BC=5 cm


https://dl.doubtnut.com/l/_Rg5PIWQNEYNk
https://dl.doubtnut.com/l/_9q756y1E2NiD

and AKLM in which KM=3 cm ZK = 90° cm,

1,M=5cm

° Watch Video Solution

14. In the given figure, AB=CD and AD=CB. Prove
that :
(i) AABD = ACDB

(i) LA = £C



https://dl.doubtnut.com/l/_9q756y1E2NiD
https://dl.doubtnut.com/l/_2F3pFwpwgDiU

| ¥ Watch Video Solution |

15. In the given figure, /SPR = ZQRP and
/RSP = ZPQR. Prove that :
(i) PQ=RS

(ii) PS=QR

o Watch Video Solution



https://dl.doubtnut.com/l/_2F3pFwpwgDiU
https://dl.doubtnut.com/l/_QUWI4HDzN8Z1
https://dl.doubtnut.com/l/_xUe4iEIfK2mO

16. In the given figure we have AO=BO and
CO=DO. Prove that :
(i) AAOC =2 ABOD

AC=BD

c q

° Watch Video Solution



https://dl.doubtnut.com/l/_xUe4iEIfK2mO

17. In the given figure, AB | BD,CD 1 BD
and AB=CD. Prove that :
(i) AABD =~ ACDB

(ii) AD-CB

A

o Watch Video Solution



https://dl.doubtnut.com/l/_lSJO0dR86FZA

18. In the given figure, PL 1 OA and
PM 1 OB such that OL=OM. Prove that :

(i) AOLP =~ AOMP

(i) PL=PM

LLOP = ZMOP

Aw

dF
o Ve

o Watch Video Solution



https://dl.doubtnut.com/l/_lSJO0dR86FZA
https://dl.doubtnut.com/l/_JPGVQQTYZdjI

19. In the given figure, we have PQ=SR and
PR=SQ. Prove that :
(i) APQR = ASRQ

(i) ZPQR = /SRQ

Q L

o Watch Video Solution



https://dl.doubtnut.com/l/_qaHMfhmSa6nb
https://dl.doubtnut.com/l/_qeSPDwk5W1tl

20. In the given figure, we have

AC 1 CD, BC 1 CD and DA=DB. Prove that

: CA=CB.

o Watch Video Solution



https://dl.doubtnut.com/l/_qeSPDwk5W1tl

21. In the adjoining figure, AABC is an
isosceles triangles in which AB=AC and AD is a

median. Prove that :

(i) AADB = AADC


https://dl.doubtnut.com/l/_qeSPDwk5W1tl
https://dl.doubtnut.com/l/_RNGFkU9jH4Dp

(i) LBAD = Z/CAD

A

B D C

° Watch Video Solution

22. In the adjoining figure, AABC is an

isosceles triangles in which AB=AC and AD is


https://dl.doubtnut.com/l/_RNGFkU9jH4Dp
https://dl.doubtnut.com/l/_ivQ2KkuqCZi6

the bisector of ZA. Prove that :
(i) A ADB =~ AADC

(i) /B = £C

(iii) BD=DC

(ivy AD | BC

-

o Watch Video Solution



https://dl.doubtnut.com/l/_ivQ2KkuqCZi6

23. In the adjoining figure, AABC is an

isosceles triangle in which AB=AC.

BM | ACand CN L AB,prove that:
(i) ABMC = ACNB

(ii) BM=CN

If

o Watch Video Solution



https://dl.doubtnut.com/l/_NdlEerMcgC12

1. In the given figure, /1 =/2 and

/ZAOB = 90° find the angle congruet to

/BOC.
«
:."-.__ & '.'
d 2 —
i iy )

o View Text Solution



https://dl.doubtnut.com/l/_eDjL9TSvRb6X

2. If the following two triangle are congruent,

then state the congruence in symbolic from.

-

) Fa
& W {- e
i . y
E} -.E u i)
A w4 “
i Sam i F & lem F

o View Text Solution

3. Find the criterion which makes /\ ADC and

/\ ABC congruent?


https://dl.doubtnut.com/l/_OEt1zwPTo40R
https://dl.doubtnut.com/l/_PIUQ3qTCENo6

Jﬂ\%
N

-

o View Text Solution



https://dl.doubtnut.com/l/_PIUQ3qTCENo6

4, N\ ABC is an isosceles triangle with side
AB=AC. P,Q and R are the midpoints of AB,BC
and CA, respectively. What is the congruence

condition that proves A RBC = AN PCB?

A
] L
. N
1 - 3 !
. - -+ a
I by r

o View Text Solution



https://dl.doubtnut.com/l/_AJOYLydqhQ1G

5. Given that in the figure, AB||CD and AB=CD
where AD and BC intersect at point O. What is

the congruence condition that proves


https://dl.doubtnut.com/l/_AJOYLydqhQ1G
https://dl.doubtnut.com/l/_VjY058vjxlIp

AN OAB = AN ODC?

o View Text Solution



https://dl.doubtnut.com/l/_VjY058vjxlIp

6.In the given A PQR, the angle bisector PS
of ZP is also the altitude from P on QR. Show

that A PQSand A PRS are congruent.

_F-
."I‘.'.
L m _
L/ L] R

o View Text Solution



https://dl.doubtnut.com/l/_vmyK4fab6dM7

7. Two right-triangle are such that their
hypotenuse are equal, and one of the acute

angle are also equalAre the two triangle

congruent?
A X
Y :
L | L]
I = —
H e F F i

o View Text Solution



https://dl.doubtnut.com/l/_KUx8Nvlkk7r5

1. Match the pair of congruent figures from

the two sets of figures given below.


https://dl.doubtnut.com/l/_CsvwUA0cQUZU

S
2
A
%

e e

J

o View Text Solution



https://dl.doubtnut.com/l/_CsvwUA0cQUZU

2.1n the given figure, write the angles that are

congruent. Explain with reasons.

- -7
_ql --__. ..___.l' (k]

o View Text Solution

3. State true or false:

a. The corresponding angles formed by a


https://dl.doubtnut.com/l/_7WlSiKWimtYI
https://dl.doubtnut.com/l/_2aV0dbGNThaN

transversal intersecting two parallel lines are
congruent.

b. Interior angles on the same side of a
transversal intersecting two parallel lines are

congruent.

o View Text Solution

4. Are two circles with equal circumference

congruent? Explain your answer with reasons.

o View Text Solution



https://dl.doubtnut.com/l/_2aV0dbGNThaN
https://dl.doubtnut.com/l/_70PXzx8uROyL
https://dl.doubtnut.com/l/_WXZELZndeje0

5. Are two squares with equal areas

congruent? Explain your answer with reasons?

° View Text Solution

6. List the pairs of congruent sides and

congruent angles in the rectangle PQRS as


https://dl.doubtnut.com/l/_WXZELZndeje0
https://dl.doubtnut.com/l/_JFhpjGIGFVAA

shown.

'

o View Text Solution



https://dl.doubtnut.com/l/_JFhpjGIGFVAA
https://dl.doubtnut.com/l/_4PJoZut7EPTt

7. ldentify all congruent angles in the

following figure, given AB || CD.

o View Text Solution



https://dl.doubtnut.com/l/_4PJoZut7EPTt

1. a. Given that A MLN =~ A ACB, write
down all the corresponding congruent parts
of the triangles.

b. If PQ=zZY, RP=YX, /P = /Y, then

trianglePQR~=' ,

o View Text Solution

2. a. Given that A ABC =2 A XY Z, where,
/B = 457,

/C =30°, /X = (3u+15)°, LY = (Tv+ 3)°


https://dl.doubtnut.com/l/_Tpli31QVYozM
https://dl.doubtnut.com/l/_g2fo91jlpaJN

,and

/7 = (11w — 14)°. Find the correct values of
u,v,

and w.

Given that A ABC >~ A XYZ, where,
/Y = (3v+5)°.and

/7 = (13w — 25)°. Choose the correct
values of u,

v, and w.

° View Text Solution



https://dl.doubtnut.com/l/_g2fo91jlpaJN

3.a. Given that A ADB >~ A ACB, are on
the same base AB. Also, BD=AC and AD=BC.
Which congruence condition proves that the

two triangle are congruent?

A i

b. In the given figure, which congruence


https://dl.doubtnut.com/l/_zNBNK88RdLpz

condition proves A ACF = A BDE?

o View Text Solution

4. a. Show that the angles opposite to the
equal sides of an isosceles triangle are equal
by drawing the altitude through the vertex to

the base. What congruence criterion will you


https://dl.doubtnut.com/l/_zNBNK88RdLpz
https://dl.doubtnut.com/l/_RPp1TwbqxGNP

use to prove the required result?

b. Show that the angle opposite to the equal
sides of an isosceles triangle are equal by
drawing the angle bisectoe of the angle at
vertex. What congruence criterion will you use

to prove the required result?

o View Text Solution

5. a. Find the criterion of congruency which

makes A ABG and A ABD congruent.


https://dl.doubtnut.com/l/_RPp1TwbqxGNP
https://dl.doubtnut.com/l/_g7pwmuiVvXdf

b. In the given figure, O is the midpoint of AD

and BC. Show that /1 = /2and /3 = /4.

° View Text Solution



https://dl.doubtnut.com/l/_g7pwmuiVvXdf

6. a. Line segment AD and BC intersect at O
and AO=0OD. Wich condition proves
N OAB = 0ODC'?

b. Are the triangle PQR and ABC show below

congruent? Why or why not?


https://dl.doubtnut.com/l/_GahBWA7aJE8P

° View Text Solution



https://dl.doubtnut.com/l/_GahBWA7aJE8P

7. In the given figure, which congruence rule

proves AN ACB =~ A BDA?

C n
A, A
|Il . F i
P " F 1
AN
I ..Er‘ll".
LA vl
A af

o View Text Solution



https://dl.doubtnut.com/l/_NhL5tsuIwMND

8. a. Can the given two triangle be show to be
congrunt using the AAS congruence rule? If
not, then what additional data is required if
the congruncehas to be estblished using the

AAS criterion?



https://dl.doubtnut.com/l/_kLl8FocbZo5M

b. Provethat AN ABE =~ A CDE.

° View Text Solution

9. Identify which two triangle are congruent

with the correct condition of congruency.


https://dl.doubtnut.com/l/_kLl8FocbZo5M
https://dl.doubtnut.com/l/_nqU3Ax2lzZ11
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o View Text Solution

10. a. In the given figure, AC=BD. Which

congrunence condition proves

AN CDB = A BAC?



https://dl.doubtnut.com/l/_nqU3Ax2lzZ11
https://dl.doubtnut.com/l/_mb7NFWj9UtRg

., .
"-.._...- .______.- |
___.-" iy,

R i 1
1 r

b. In the given figure, AC=BD and AC||BD. Also,
CO=0D and ZA = /B = 90° . How are the

two triangle congruent?

e

oy
-,

.

|:|.“':|.|.:|..I|:|-



https://dl.doubtnut.com/l/_mb7NFWj9UtRg

I o View Text Solution

1. a. In the given figure, find the criterion
which makes the two triangle congruent.

b. In the given figure, find the criterion under


https://dl.doubtnut.com/l/_mb7NFWj9UtRg
https://dl.doubtnut.com/l/_HUdH6IlxBQOr

which A DBA = A dDBC'.
i

S

o View Text Solution

Revision Exercise


https://dl.doubtnut.com/l/_HUdH6IlxBQOr

1. Are two right angle congruent?

o View Text Solution

2. Are two squares with the same perimeret

congruent?

o View Text Solution

3. Are two opposite faces of a right cylinder

cingruent?



https://dl.doubtnut.com/l/_ASroRHW7JoB3
https://dl.doubtnut.com/l/_s6BPmKuDKrlI
https://dl.doubtnut.com/l/_1sqAADYaPmyN

View Text Solution

4. Are two one-rupee conis coins congruent to

a single two-rupee coin?

o View Text Solution

5. If two triangle ABC and XYZ are such that

AB=XY,BC=ZX, CA=YZ,then A ABC = -~ .

o View Text Solution



https://dl.doubtnut.com/l/_1sqAADYaPmyN
https://dl.doubtnut.com/l/_f5RbQKjxhC4T
https://dl.doubtnut.com/l/_T20HQPWuCXkt
https://dl.doubtnut.com/l/_o9ydihuqHCth

6. Establish congruency between A PRS and

A RPQ in the given figure.

o View Text Solution

7. Line segments AB||PQ. Also, AO=0Q=3 cm

Establish congruency between A AOB and


https://dl.doubtnut.com/l/_o9ydihuqHCth
https://dl.doubtnut.com/l/_jEERN5zvVGkn

*.l-
) .
: . .ﬁ:"u
o ¢
M

o View Text Solution

8. In the given figure, AB=CD where AD and BC

intersect at point o and

A\ BAO = A ODC . What is the


https://dl.doubtnut.com/l/_jEERN5zvVGkn
https://dl.doubtnut.com/l/_3XiyFpLm8Qiu

congrunence condition that proves

N OAB =~ A ODC?

o View Text Solution



https://dl.doubtnut.com/l/_3XiyFpLm8Qiu

9. Establish the congruency between the two

given triangles.

T"
.ﬁ. I.-'.--. |Ia. -lii-'_'_,.f-
T W
- -

T T

o View Text Solution

10. Identify the correct condition of

congruency and the corresponding order


https://dl.doubtnut.com/l/_RHKv5bHNOHJN
https://dl.doubtnut.com/l/_MtvbQQl2VEhX

which makes the two triangles congruent.

K
~.

A dcm N .I'i-_ﬂ-l

° View Text Solution

11. State the congruence criterion which makes

the two triangles in the figure congruent.


https://dl.doubtnut.com/l/_MtvbQQl2VEhX
https://dl.doubtnut.com/l/_gDeFrX7wC5r8

° View Text Solution

12. ABCD is a rectangle with diagonals AC and
BD. Which congruence conditions(s) proves

N ABD = A CDB?



https://dl.doubtnut.com/l/_gDeFrX7wC5r8
https://dl.doubtnut.com/l/_Axgxg39BMCqB

[ ° View Text Solution

1. A line segment AB is trisected (divided into

three equal parts) by pounts C and D .Are line
segments AC,CD.DB congruent ?

A * af

-. =
{' i

o View Text Solution



https://dl.doubtnut.com/l/_Axgxg39BMCqB
https://dl.doubtnut.com/l/_LtH3zz7y4Ge8

2. A circle with centre O has two distinct
points A and B on its circumference Is OA =

OB > Justify your answer with reason .

o View Text Solution

3. Are two circles with equal areas congruent ?

o View Text Solution



https://dl.doubtnut.com/l/_kXV2jUQZbYrb
https://dl.doubtnut.com/l/_r96dotlC64fU

4. There are two circels .One with radius 4 cm
and the other with diameter 4 cm .Are the two
circles congruent? Explain your answer with

reasons.

o View Text Solution

5. Identify which is the correct option for the

two given triangles to be congruent .


https://dl.doubtnut.com/l/_AVD0awtsdU4D
https://dl.doubtnut.com/l/_eSW8Hyptr1lf

. £k
» @% |
M: ]

AAXYZ = AABC

B.ABCA = AXYZ

C.ACAB = XY Z

D.ACAB =2 AXZY

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_eSW8Hyptr1lf

6. Are the two given triangles congruent?

Express the congruency in symbolic form .

T -
. e,
T E -'"‘Eg
"h# & :'_ "
- iy - T
[ L=
n'..{"h § R -..5 .“—u. l_-h.j

o View Text Solution



https://dl.doubtnut.com/l/_E1UBUHpgCN5P

7.1n quadrilateral ABCD. Show that /A = /C'.

J
i '||l.|'f

al
il L

o View Text Solution

8. Show that the two given triangles are
congrument .State the congruence criterion

applied and write the answer in symbolic form


https://dl.doubtnut.com/l/_0MvttzNoXMmu
https://dl.doubtnut.com/l/_RsciafqCjL2h

[
A :P i
¥ ' :
llh by |&
| W AW wig
L 1i#n N X L

o View Text Solution

9. Line Segment AB and CD intersect at O and
CO=DO.

Establish congruency between ACOA and


https://dl.doubtnut.com/l/_RsciafqCjL2h
https://dl.doubtnut.com/l/_0S6AlfXOZEop

ADOB.

i

° View Text Solution

10. What more information is required to

prove that AABC = AABD. If the AAS


https://dl.doubtnut.com/l/_0S6AlfXOZEop
https://dl.doubtnut.com/l/_Yrwl7ky2kfGe

criterion for congruence has to be used?

° View Text Solution



https://dl.doubtnut.com/l/_Yrwl7ky2kfGe

11. What criterion can be applied to show that

two triangles in the figure are congruent ?

A B

o View Text Solution



https://dl.doubtnut.com/l/_Lg1SkWKRKJDR

12. Which of the following is not a valid

criterion for showing two triangles congruent.

A. ASA

B. SSS

C. SAS

D. AAA

Answer:

o View Text Solution



https://dl.doubtnut.com/l/_n76D65EtU900

